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Cl(+2)-(+5) CI(-3)-(+5)
(+5)%3I< = (- 5)&28d (+5)%3I< = (- 5)2E87d

EBURICRBULT, EBUEICIRSLT,
(+2)=(+5)=(+2)+(-5)=~-3 (=3)=(+5)=(~3)+(-5)=-8

~ HIFL T, #MDLETPOTH!

RBUBICRBELT, ROFTEZ LIRS,

L] (+D)-(+2) = ( )+ ) = 2| (=3)=(+4) = ( H+( )
3] (+2-(+6) = ( )+( ) = 40 (=8)=(+1) = ( )+( )
5 (+H-(+9) = ( )+ ) = 6| (-2-(+2) = ( )+( )
7| 7-(+10) = ( +( ) = 8| (-6)-(+3) = ( )+( )
9| (+1)-(+14) = ( I+( ) = 10| (=H-(+7) = I+ )
11| (+10)—(+35) = ( )+ ( ) = 12| (-13)—-(+12) = ( )+(
13| (+60)—(+90) = ( )+ ( ) = 14| (=50)—-(+70) = ( )+ (
15| 0—(+12) = 0+( ) = 16| (—=15)—(+15) = ( )+(
17| (+1.5)—-(+2.9) = ( )+( ) = 18| (=65)—(+35) = ( )+ (
9] (+79)-(+9) = )+ ) = |20 =H-(+3) = ( )+(

[ TICED] [RBIR—ZICRERD] [RR=ZCED] [BEOXR-Z(TED]
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